BRIHNMUMBAI MUNICIPAL CORPORATION

Estimate

W- 411 :- Improvement of Various Roads in CC/ CC Passage in R/Central Ward in Zone- VII of Western Suburbs Division.

Sr. No.	Schedule Item No.	Description	APPA SAHEB SIDDHAYE MARG, Borivali(East)	WAMAN RAO PAI MARG (KAJU PADA BUS STOP TO TRI MANDIR), Borivali(East)	SANT DNYANESHWAR ROAD (SIDE STRIP), (Including Sona Talkies bylane)Borivali(Eas t) & Broken panels	Shree Krishna Nagar Road no. 2	Total Quantity	Rate	Per	Amount
1	2	3	4	5	6	7	8	9	10	11
1	R2-RW-7-37	(a) To carry out total station survey of the road with reference to existing co-ordinate system by establishing control stations by establishing temporary bench mark from permanent bench mark, marking centre line of the road by nails, carrying out detailed levelling, plotting cross sections longitudinally at 20 mtr. intervals with levels at every 4 mtr. cross distance, preparing drawings on Auto cad to the scale of 1:500 and supplying 2 hard copies and 1 soft copy in C.D. form., etc. complete upto 18.3 mtr wide road.	1.00	1.00	1.00	1.00	4.00	20182.50	Upto 500 Meter	80,730
2	R2-RW-7-38	To carry out total station survey of the road with reference to existing coordinate system by establishing control stations by establishing temporary bench mark from permanent bench mark, marking centre line of the road by nails, carrying out detailed levelling, plotting cross sections longitudinally at 20 mtr. intervals with levels at every 4 mtr. cross distance, preparing drawings on Auto cad to the scale of 1500 and supplying 2 hard copies and 1 soft copy in C.D. form, etc. complete upto 18.3 mtr wide road. [Extra over and above for every 100 mtrs. And part thereof.	0.00	2.00	9.00	9.00	20.00	3900.00	/100 Meter	78,00
3	R2-RW-7-39	To carry out total station survey of the road with reference to existing co-ordinate system by establishing control stations by establishing temporary bench mark from permanent bench mark, marking centre line of the road by nails, carrying out detailed levelling, plotting cross sections longitudinally at 20 mtr. intervals with levels at every 4 mtr. cross distance,repraring drawings on Auto cad to the scale of 1500 and supplying 2 hard copies and 1 soft copy in C.D. form. etc. complete 18.30 to 27.45 mtr. wide road.	0.00	0.00	0.00	0.00	0.00	21190.00	Upto 500 Meter	
4	R2-RW-7-40	To carry out total station survey of the road with reference to existing co-or dinate system by establishing control stations by establishing temporary chmark from permanen t benchmark,marking centreline of the road by naik,carrying out detailed levelling, plotting cross sections longitudinally at 10mtr intervals with levels at every 2mtr.cross distance,preparing drawings on Autocad to the scale of 1:500 and supplying 2mark optics and 1 stor topy in C.D.formetc. complete from 18.30 to 27.45 mtr.wideroad-Extraover and above forevery100mtrs.Andpartthereof	0.00	0.00	0.00	0.00	0.00	4238.00	/100 Meter	
5	R2-RW-7-43	To carry out total station survey of the road with reference to existing coordinate system by establishing control stations by establishing temporary bench mark from permanent bench mark, marking centre line of the road by nails, carrying out detailed levelling, plotting cross sections longitudinally at 10 mr. intervals with levels at every 2 mr. cross distance, preparing drawings on Auto cad to the scale of 1:500 and supplying 2 hard copies and 1 soft copy in C.D. form. etc. complete for roads wider than 36.6 mtr	0.00	0.00	0.00	0.00	0.00	25220.00	Upto 500 Meter	
6	R2-RW-7-44	To earry out total station survey of the road with reference to existing coordinate system by establishing control stations by establishing temporary bench mark, from permanent bench mark, marking centre line of the road by naik, carrying our detailed levelling, plotting cross sections longitudinally at 10 mr. intervals with levels at every 2 mr. cross distance, preparing drawings on Auto cad to the scale of 1500 and Suppling 2 hand copies and 1 soft copy in C.D. form etc. complete for roads wider than 36.6 mtr., Extra over and above for every 100 mtrs. And part thereof.	0.00	0.00	0.00	0.00	0.00	5044.00	/100 Meter	
7	R2-CS-EW-3	Excavation for foundation, substructures, basements, tanks, sumps, walls, chambers, manholes, trenches, poles, pits&general building works in soft/disintegrated rock, sandstone, stiff clay, gravel, cobblestone, hardlaterite, water bound macidam, wet mix macadam, asphalt mix carpet of any type, pitching, soling, paths and hardcore, lime concrete, plain concent concrete, stone masonry and it types of bick/block masonry below ground level, nock bouldes, etc. for depth/fits upto 15.3M measured from the ground level, including dressing/rimming the sides, leveling of bottoms, manual devatering, removing mak vegetation, back filling in hyers on tomor than 200 mm thickness, watering, consolidating, comparing to achieve not less then 97% Modified Protord ensity conforming to relevant IS, stacking in measurable heaps for future use within owners space or disposing within an initial lead of 150 m as directed. Joaling, leveling exchange shoring, storing etc. orghet es a directed by Engineer-in Charge-Note: 11The rate includes the handling/supporting the existing utilities such as cables,drains,pipes, water mains etc. 2) It also includes the royalty and other taxes if any.	4729.00	4729.00	11405.00	1258.00	22121.00	500.00	Cubic Meter	11,060,50
8	R2-CS-EW-4	Excavation by chiseling by manual operations, pneumatic breaker, hammer,dnlling, compressor breaker, jack hammer etc. for foundations, substructures,basements, tanks, sumps, walls, chambers, manholes, poles, pits & generalbuilding works in hard rock, reinforced concrete, Bituminous macadam fordepths/lifts upto 15M, including dressing/rimming the sides, leveling orbottoms, manual devarcing, removing naix vegetation, backfilling in layers notomer than 200mm thickness, watering, consolidating, comparing to achievenot less them 97% Modified Proctor density conforming to relevant IS, stuckingin measurable heaps for future use within owners space or disposing within aninital lead of 150m as directed, unolading, leveling excluding shoring, stratingert, complete as directed by Engineer-in-Change, leading, Note: 1) The rate includes the handling/supporting the existing utilities such ascables, drains, pipes, water mains etc. 2) Ir also includes the oxylity and other taxes if any.	480.00	480.00	1150.00	130.00	2240.00	1054.00	Cubic Meter	2,360,90
9	R2-CS-EW-7-a	Extra over the items CS-EW-03 to CS-EW-06 for lift from 1.5m to 3.0m.	984.00	967.00	2802.00	183.00	4936.00	127.00	Cubic Meter	626,87
10	R2-SWD-45	Supplying and providing blue trap stones of approved quality and laying hand set dry tubble packing 25 cm. thick to required level and grade, camber including filling in the interstices with 60 mm. metal and small stone chips, etc. and thoroughly rammed, consolidated, etc.as specified & as directed by Engineer in Charge.	842.00	1034.00	2207.00	251.00	4334.00	846	Cubic Meter	3,666,564

Absend Statum Description Statum Statum </th <th></th>											
11 1.7 add is non-concernenged 11 bits of instance increased prime in the instance increased prime interprime instance increased prime instance incre	Sr. No.	Schedule Item No.	Description	SIDDHAYE MARG,	MARG (KAJU PADA BUS STOP TO TRI MANDIR	DNYANESHWAR ROAD (SIDE STRIP), (Including Sona Talkies bylane)Borivali(Eas		Total Quantity	Rate	Per	Amount
InInInstrume integrate metabolisme integrate metabolis	1	2	3	4	5	6	7	8	9	10	11
111.148 • 30interfacie for superclubic programment with a large status in superclubic	11	R2-RW-10-26	including form of mixing in batch ing plant, compacting by interna l&surface vibrator, curing, finishingetc.completeasspecified&asdirectedbytheEngineer.Contractorhastomakehisownarrangementforwaterforcuringetc.&	505.00	620.00	1325.00	151.00	2601.00	6893.00	Cubic Meter	17,928,693.00
1011010000000000000000000000000000000000	12	R2-RW-10-29	approved makes plasticizer/retarder & transported by transit mixer & placing at work site, compacting, finishing curing etc. by contractor's water & tarring the sides off romwork with hot bitumen as specified & directed by the Engineer. (MINIMUM CEMENT CONTENT	604.00	775.00	1328.00	202.00	2909.00	7055.00	Cubic Meter	20,522,995.00
111	13	R2-CS-CW-35-c	wall, lift wall, foundations, slabs, beams, columns, canopies, staircases, newels, chajjas, lintels, pardies, coping, fins, arches, etc. as per detailed designs, drawings and bar bending schedules, including straightening, cutting, bending, hooking the bars, binding with wires or tack	143.00	170.00	355.00	30.00	698.00	76770.00	M.T.	53,585,460.00
13BL2SH37.41Relations the sense and exclusion of protect of princip the measurement of the sense and exclusion strategies and exclusion s	14	R2-CS-RF-7-B-FAIR	for all shapes etc., for encasement & deshuttering the same after specified period or next day of placing the microconcrete / concrete. Providing & applying approved oil on all surfaces of formwork coming in contact with concrete as per specification. Walls (any thickness)	7629.00	9600.00	23000.00	1914.00	42143.00	558.00	Square Meter	23,515,794.00
INICAN 0-321of the 1000m to \$2km a 75mm in line, bed over some stare dating appeckaging on page of seleging proceed from approved from appeck annufacture etc. complex0.001.1300900000.00010000900000900000090000009000000900000090000009000000900000090000009000000900000009000000090000000900000009000000090000000090000000090000000009	15	R2-CS-RF-7-F-FAIR	for all shapes etc., for encasement & deshuttering the same after specified period or next day of placing the microconcrete / concrete. Providing & applying approved oil on all surfaces of formwork coming in contact with concrete as per specification. Stairs(waist slab),	1068.00	1249.00	2761.00	221.00	5299.00	483.00	Square Meter	2,559,417.00
17R2-88-19-51Particular Configuration finant and have degine indusive of exercision in any value content in targe of exercision in targe of exercision in any value content in targe of exercision in any value	16	R2-RW-7-32		0.00	173.00	588.00	0.00	761.00	2896.00	Set	2,203,856.00
AndNote we have many in CM14 with planer in CM14 we ching etc. complete, as specified as directedNote we have many in CM15 we have many in CM154 we ching etc. complete, as specified as directedNote we have many in CM154 w	17	R2-RW-10-51	plant with excellent finish and sharp edges inclusive of excavation in any soil except rock, laying of leveling course of M15 grade RMC 100 mm thick or required slope, (inclusive of form work) jointing in 1:2 cement mortar proportion flush to concrete surfaces as directed.	50.00	65.00	140.00	23.00	278.00	799.00	Meter	222,122.00
19R2-SWD-148grade of ontine (FG 130 contoming to 15 210-2009 and specification no DS-SWD3) with the grade disguation of HD 20 conforming to 15 SP-SWD3, etc. complete, as specified and as directed by Engineer in Charge.5.005.005.005.0020.0031371.00REach627,620.00200R2-SWD-3, etc. complete, as specified and as directed by Engineer in Charge.Single and fixing 120m etc. and specification as per Shandard Specification5.005.005.005.0020.0031371.00REach627,620.00201R2-SWD-3, etc. complete, as specified and as directed by Engineer in Charge.Single and fixing 120m etc. and specification on SP-SWD3 with the grade disguation of HD 20 conforming to IS prade of min. FG 130 conforming to IS 2102009 and specification on SP-SWD3 with the grade disguation of HD 20 conforming to IS prade of min. FG 130 conforming to IS 2102009 and specification on SP-SWD3 with the grade disguation of HD 20 conforming to IS prade of min. FG 130 conforming to IS 2102009 and specification on SP-SWD3 with the grade disguation of HD 20 conforming to IS prade of min. FG 130 conforming to IS 2102009 and specification on SP-SWD3 with the grade disguation of HD 20 conforming to IS prade of min. FG 130 conforming to IS 2102009 and specification on SP-SWD3 with the grade disguation of HD 20 conforming to IS prade of min. FG 130 conforming to IS 2102009 and specification as per Shandard Specification a	18	R2-RW-8-02	P/L 250 mm dia. R.C.C. humepipes, NP2 class, jointing, filletting in1:1C.M.including plugging of both the ends with gunny bags, brick masonary in C.M.14 with plaster in C.M.14 & curing etc. complete, as specified as directed	0.00	173.00	588.00	0.00	761.00	640.00	Running Meter	487,040.00
20 R2-SWD-146 gradue of min. FG 150 conforming to IS 210209 and specification on SP-SWD with the grade designation of HD 20 conforming to IS 172(199) industing testing as per C1.01 on all specification as per SLD1 of K122(197), as per specification as per specificatin as per specificatin as per specificatin as per specification as	19	R2-SWD-148	grade of min. FG 150 conforming to IS 210:2009 and specification no SP-SWD3 with the grade designation of HD 20 conforming to IS 1726:1991including testing as per CL 10 and inspection as per CL.11 of IS 1726:1991, as per specification as per Standard Specification no	5.00	5.00	5.00	5.00	20.00	31371.00	Each	627,420.00
21 Br2-SWD-119 Extra over item no R2-SWD-119 per meter depth above 0.60m and upto 2.5m, et all complete as specified & as directed by 45.00 56.00 109.00 21.00 231.00 49457.43 Each 11,424,666.33 21 P2-SWD-119 Extra over item no R2-SWD-119 per meter depth above 0.60m and upto 2.5m, et all complete as specified & as directed by 13.00 15.00 109.00 21.00 21.00 15412 39 August 11,424,666.33	20	R2-SWD-146	grade of min. FG 150 conforming to IS 210:2009 and specification no SP-SWD3 with the grade designation of HD 20 conforming to IS 1726:1991.including testing as per CL 10 and inspection as per CL.11 of IS 1726:1991, as per specification as per Standard Specification no	6.00	2.00	15.00	2.00	25.00	94200.00	Each	2,355,000.00
	21	R2-SWD-119	brickwallsin cement mortar 1:5 plastered both inside & outside with 20 mm thick cement mortar 1:2 and neat cement rendering so asto give a smoothsurface including 230mm cement concrete bedding (M 15) and cementconcrete (M 15) in haunches and channelsfinished smooth with 20 mm thick cement mortar (1:1) and fixing C.I. heavy duty airighterectangular frame. & core of size 0.9Mx 0.45M weighing minimum 270Kg,resting on 300 mm high c.c. cap M 20 with (1:1) cement plasteron both the sides & necessaryC.I. steps (weighing 5.4 kgeach)staggered at 300mm /c, including 75 mm wide vata all round theexternal portion of thechamber and the foundation concrete in C.M. 1:etc. complete as per plan in and as per drawing (Dwg No.MCGM/SWD/2015-01), etccomplete as specified & as directed by	45.00	56.00	109.00	21.00	231.00	49457.43	Each	11,424,666.33
	22	R2-SWD-120		13.00	15.00	26.00	7.00	61.00	15442.39	Meter	941,985.79

Sr. No.	Schedule Item No.	Description	APPA SAHEB SIDDHAYE MARG, Borivali(East)	WAMAN RAO PAI MARG (KAJU PADA BUS STOP TO TRI MANDIR), Borivali(East)	ROAD (SIDE STRIP), (Including Sona Talkics bylane)Borivali(Eas t) & Broken panels	Shrec Krishna Nagar Road no. 2	Total Quantity	Rate	Per	Amount
1	2	3	4	5	6	7	8	9	10	11
23	R2-CS-EW-16	Excavation over areas for basements, roads, land/plot developement in soft/ disintegrated rock, sand stone, stiff elay, gravel, cobblestone, hard laterite, water bound macadam, wer mix macadam, pitching, soling, paths and hardrore, lime concrete, plain cement concrete, stone masony and all types of briefs/ block masony below ground level, rock boulders, etc. for all depths/fifts including manual devatering, filling the selected exeavated enth at the locations as directed, in layers nor more than 20mm thickness, watering, consolidaring, compacting to achieve not less then 97% Modified Protor density conforming to relevant IS, stacking the selected exact the authin owner space or disposing within an initial lead of 150m as directed, loading, unloading, leveling excluding shoring, strutting etc. complete as directed by Engineer-in-Charge. Note: 1) The rate includes the handling/ supporting the existing utilities such as cables, drains, pipes, water mains etc. 2) It also includes the royalty and other taxes if any.	5912.00	7284.00	6627.00	551.00	20374.00	343.00	Cubic Meter	6,988,282.00
24	R2-RW-1-13	Levelling, watering & rolling by vibratory roller weighing not less than 10 tonnes & preparing the ground to the required grade & camber etc. complete as specified and as directed by the Engineer as per prevailing MCGM specifications for Road works.	8206.00	10013.00	12757.00	1205.00	32181.00	9.83	Square Meter	316,339.23
25	R2-RW-2-21	Providing & laying, spreading & compacting specified crushed stone in granular subbase course including premixing the material in mechanical mixer (pugnill or approved type), spreading of mixed material in uniform layer of 100 mm to 75mm (compacted thickness each) with motor grader or paver on prepared marun surface & compacting with 10 tonne vibratory collect to achieve desired density including all material Jabour machinery Jalying Bruticaing to all filts Relat maintenance of diversion etc. complete (metal gradation from 75 mm to 75 mm micron as per MCGM Road Specifications clause no.210).	2030.00	2610.00	3480.00	310.00	8430.00	2547.00	Cubic Meter	21,471,210.00
26	R2-RW-2-20	Providing & laying, spreading & compacting graded crushed stone agreegate to wet mix macadam satisfaction including premising the natarcial with water to OMC in mechanical mix (pugnall) carriage of mix material by tipper to site laying in uniform layer of 75 mm to 100 mm (compacted thickness each) with sensor paver finisheron prepared subbase & compacting with vibratory roller (10tonne) to achieve desired density including lighting, guarding barricating & maintenance of diversion etc. as directed by the Engineer, (Rebate for not using sensor paver should be taken, (meal gradation from 53 mm to 75 mm micron as per MCGM Road Specifications clause no.240).	1210.00	1480.00	1910.00	190.00	4790.00	2937.00	Cubic Meter	14,068,230.00
27	R2-RW-10-32	Providing and laying Dry Lean Concrete base including providing coarse and fine aggregate to the specified gradation using minimum cement content 150kg/ cum of concrete with OPC43 grade cement, mixing of concertie as per approved design mixasing mechanised batchmisplant of appropriate capacity, transporting and laying with selfpropelled paver with electronic sensor device and compacting with batchmisplant of appropriate capacity. The self to give district compacted design and average compressivestreagthof100MP art7daysandeumageuthisquiduringcompoundandprinkingwaterandloveringwithmoisthesiandothorpondingo fraetrof7daystachdinggrowthing constructiongoinst including/almaterial.labour,machinerywithallleadsandliftsetc.completeasspecifiedandasd irectedbytheEngineer1B)Layingbypaver with electronic sensor device.	1070.00	1320.00	0.00	0.00	2390.00	4481.00	Cubic Meter	10,709,590.00
28	R2-RW-10-33	Providing & laying M-40 C.C. avg. compressive strength 45 MPa and b avg. flextural strength of 5.0 MPa (As per IRC 15-2002.N.1.6) procured from M.C.G.M. approved R.M.C. plant including use of approved make plasticizer/retarder & Contractors water with ice flakes and transported by transit mixer and placing at work site. Compacting finishing, initial curing by approved curing compound & Contractors water and tarring the sides of slab with hob titumen as specified and directed (w/c ratio o.4 maximum) (vata for curring will be paid separately.) (MINIMUM CEMENT CONTENT 350 kg/m ³)	2140.00	2640.00	2720.00	250.00	7750.00	7968.00	Cubic Meter	61,752,000.00
29	R2-RW-10-39	Extra & over for providing and using special admixtures/ plasticizers to achieve required cushing & average flexural strength 5.0 Mpa of M40 grade concrete in 7 days. NOTE: THIS ITEM SHOULD BE OPERATED ONLY AFTER SPECIFICS SANCTION OF DIR(ES& P). NOTE: FOR SPECIAL ADMIXTURES ITEMS SUCH AS ELKEM MICROSILICA, POLYPROPELYNE FIBER, BSF GLANIUM SKY_EARLY STRENGTH SUPER PLASTYCIZER, STEEL FIBER REINFORCEMENT ETC. ORIGINAL CHALLAN SHOULD BE PRODUCED, FAILING WHICH NO PAYMENT TO BE MADE.	2697.00	2955.00	2855.00	344.00	8851.00	1067.00	Cubic Meter	9,444,017.00
30	R2-RW-10-27	P/L R.M.C. M-10 C.C. having avg. compressive strength 13.5 Mpa in foundation/ encasement/ pavement with or without chequered design including formwork, mixing in batching plant, placing, vibrating with plate or needle vibrator, curing etc. complete as directed by the Engineer. Contractors has to make his own arrangement of water for curing with Hessian cloth etc. & will not be paid separately. (MINIMUM CEMENT CONTENT 220 Kg/m ³ .)	10.00	10.00	1300.00	120.00	1440.00	6452.00	Cubic Meter	9,290,880.00
31	R2-RW-5-20	Providing and applying PRIME COAT with CATIONIC BITUMEN EMULSION (SS) (@ 7 to 12Kg , of 10 Sqmt . over prepared surface to receive bituminous mix by applying PRIMER with mechanical spray bitumen, including cleaning of road surface etc. completed, as directed For Low Porosity surface & the primed surface ball be allowed to care for at least 24hours or any other higher period, as is found to be mecsain to allowall the moissure or voltates to exponence before any subsequent bituminous surface treatment or misi shail(As per New Road Specifications Clause No. 313, curing as per 313.5)-	440.00	130.00	320.00	130.00	1020.00	57.00	Square Meter	58,140.00
32	R2-RW-5-23	Providing and applying TACK COAT with CATIONIC BITUMEN EMULSION (RS) (@ 0.2 to 0.25Kg, of Sq.mt. over prepared surface to receive bituminous miss by applying TACK COAT with mechanical spray bitumen, including cleaning of road surface etc. completed, as directed For NORMAL BITUMINOUS SURFACES & the tack coat shall be left to cure until all the volaile shave evaporated before any subsequent construction is started, which is indicated by change in colour from brown to black (As per New Road Specifications Clause No.314,curingas per 314.3.4).	435.00	130.00	312.00	130.00	1007.00	33.00	Square Meter	33,231.00

Sr. No.	Schedule Item No.	Description	APPA SAHEB SIDDHAYE MARG, Borivali(East)	MARG (KAJU PADA BUS STOP TO TRI MANDIR), Borivali(East)	SANT DNYANESHWAR ROAD (SIDE STRIP), (Including Sona Talkies bylane)Borivali(Eas t) & Broken panels	Shrec Krishna Nagar Road no. 2	Total Quantity	Rate	Per	Amount
1	2	3	4	5	6	7	8	9	10	11
33	R2-RW-5-25	Providing and applying TACK COAT with CATIONIC BITUMEN EMULSION (RS) @ 0.25 to 0.30 Kg, of Sq.mt. over prepared surface to receive binuminous mix by applying TACK COAT with mechanical spray binumen, including cleaning of road surface etc. completed, as directed For DRY & HUNGRY BITUMINOUS SURFACES (As per New Road Specifications Clause No. 314)-	435.00	130.00	312.00	130.00	1007.00	35.00	Square Meter	35,245.00
34	R2-RW-5-46	P/L hot Premix Dense bituminous macadam with 4.50% bitumen content of grade VG-40 to the required line, level, and camber rolling with 10/12 M.T. power vibratory roller & sensor paverete. complete as specified and as directed with antistripping agent at 1% by weight of bitumen using grading II of "MORTH" (per prevailing MCGM specification for Roadworks clause no.354)	33.00	10.00	24.00	10.00	77.00	9008.00	Cubic Meter	693,616.00
35	R2-RW-5-51	P/L premix hot mix Bituminous concrete with 6.00% of VG-30 bitumen content by weight of mix surface coat to compacted to required thickness using new material to the required grade, level and camber rolling with power, vbnatory roller pneumatic roller & sensor paver etc. complete as specified and as directed with addition of lime filler 2% and anti stripping agent (@ 1% by weight of bitumen etc.(As per prevailing MCGM specifications for Roadworks clause no. 364)	3.00	4.00	4.00	2.00	13.00	10974.00	Cubic Meter	142,662.00
36	R2-RW-5-64	P/L _a mastic asphalt 40mm thick with 10/20 grade bitumen including producing the same at computerised batch mix plant, transporting the same to site by means of mastic cookers, laying the same with mastic paver and including all necessary tools, labours & barricaling, spreading of aggregates as analysis of measures by means over newly laid mastic asphalt as per prevailing MCGM specification clause no. 365 of Roadwords: as directed by Engineer in charge (Note: The material specifications / gradation & content shall be as specified in the relevant LS. Codes.)	435.00	130.00	312.00	130.00	1007.00	1571.00	Square Meter	1,581,997.00
37	R2-RW-5-65	P/L, mastic asphalt 25mm thick with 10/20 grade bitumen including producing the same at computerised batch mix plant, transporting the same to site by means of mastic cookers, laying the same with mastic paver and including all necessary tools, labours & barricaling, spreading of aggregates as antiskid measures by means over newly laid mastic asphalt as per prevailing MCGM specification clause no. 365 of Roadwork's advected by Engineer in charge (Note: The material specifications / gradation & content shall be as specified in the relevant LS. Codes.)	100.00	130.00	120.00	45.00	395.00	1079.00	Square Meter	426,205.00
38	R2-RW-6-03	Raising or lowering circular manholes to the required level upto 20cm. Including all material, form work etc.with 16cm.thick cement concrete M-15 (1:2-4) c.c. coping under frame and cover of manhole, including curing etc. complete as specified and as directed	15.00	21.00	45.00	8.00	89.00	1151.00	Each	102,439.00
39	R2-RW-6-04	Raising or lowering water entrances , hydrant key box/sluicebox/gully trap chambers to the required level, upto20cm.including all materials, curingetc. complete as specified and as directed.	2.00	3.00	5.00	1.00	11.00	801.00	Each	8,811.00
40	R2-RW-6-05	Raising or lowering rectangular manholes to the required level upto 30cm. Including all materials, form work, brick work and with 16 cm.thick M-15 C.C. coping under frame & cover of manhole including curring etc.complete, as specified and as directed.	4.00	6.00	10.00	2.00	22.00	2297.00	Each	50,534.00
41	R2-RW-6-06	Removing the old C.I. curicular frame & cover & delivering the same to any Municipal depot or worshop, as directed.	4.00	6.00	10.00	2.00	22.00	147.00	Each	3,234.00
42	R2-RW-7-01	Removing & refixing traffic regulatory boards/bus stop boards/street name boards etc. in M-100 cement concrete, complete as directed.	2.00	3.00	6.00	1.00	12.00	881.00	Each	10,572.00
43	R2-RW-7-29	Excavation and dismantling of structures on roadway, shifting and relocating of essential utilities, street poles, signals road sign boards including taking necessary permission from the service providers/authonities including payment of necessary deposits and supervision charges, shifting charges etc.complete as directed by Engineer-in-charge. a) Street Poles	2.00	2.00	4.00	1.00	9.00	1229.00	Nos	11,061.00
44	R2-RW-7-31	Excavation and dismantling of structures on roadway, shifting and relocating of essential utilities, street poles, signals road sign boards including taking necessary permission from the service providers/authorities including payment of necessary deposits and supervision charges, shifting charges etc.complete as directed by Engineer-in-charge.c) Road Sign Boards	2.00	2.00	4.00	1.00	9.00	327.00	Nos	2,943.00
45	R2-SE-5-1-a	Providing & laying stoneware pipes of SP2 class including jointing with CM(1:1), filleting etc. complete as specified & directed. 150 mm	20.00	20.00	9.00	7.00	56.00	657.00	Running Meter	36,792.00
46	R2-RW-8-03	P/L 300 mm dia. R.C.C. hume pipes, NP2 class, jointing, filling in 1:1 cement mortar, including plugging of both the ends with gunny bags, brick masonary in cement mortar 1:4 with plaster in cement mortar 1:4 & curing etc. complete, as specified as directed.	2303.00	2946.00	6040.00	974.00	12263.00	796.00	Running Meter	9,761,348.00
47	R2-RW-8-04	Providing & fixing in position M- 20 cement concrete precastslab, 50cmx50cm.&8cm. Thick with the word "DUCT" inscribed over it including making good, the damaged surrounding surface etc. complete.	28.00	32.00	32.00	16.00	108.00	326.00	Nos	35,208.00
48	R2-RW-10-46	Providing and fixing pre-cast Central Median divider Type-I of R.M.C. in M-20 C.C. on Road as per drawing, finished neathy, compacting, curing, with formwork, etc. including beding of R.M.C. of M-10 C.C., 15cm thick, filling of joints in C.M.12 & painting the exposed surface with 30cat of roadmarking paint, Grade-I of approved colour and quality including required exervation in C.C., asphalt etc, and removing the same anywhere in Gity & Sublimit, levelling the same as specified and as directed by the Engineer. (Note-Every 10 dividers shall have 40mm. dia. hole along the centerline of divider at formation level of road to drain off rain water / excess water.)	500.00	650.00	0.00	0.00	1150.00	1685.00	Running Meter	1,937,750.00
49	R2-RW-10-06	Providing&laying R.C.C. Running beam in M-40 cement concrete including sequired form work mixing, compacting & curing, etc. complete reinforced with 12mm dia. (Minimum 4 Nos.) M.S. main bars & 6mm Dia M.S. rings at 15cm c/c to be anchored in slipper slab properly with M.S. reinforcement as per drawing etc. complete as specified (Steel will not be paid separately). Contract or has to make his own arrangement for portable water for construction/curing with hessian cloth, etc. & will not be paid separately. Beam Size a) 22cm x 30cm.	1050.00	1365.00	1260.00	0.00	3675.00	844.00	Running Meter	3,101,700.00
50	R2-RW-10-11	Cating of construction & dummy joints of M-35 C.C. & above slab by mechanical means with in 10 to 16 hrs. Of casting of bay / slab as directed. A)transverse dummy joints 100 mm deep / 1/3 thickness of concrete pavement & 6mm wide.	3645.00	4084.00	10920.00	1205.00	19854.00	59.00	Running Meter	1,171,386.00
51	R2-RW-10-12	Cutting of construction & dummy/joints of M-35 C.C. & above slab by mechanical means within 10 to 16hrs. of casting of bay/slab as directed.B)Longitudinal construction joints 100 mm deep/1/3rd thickness of slab & 6mm wide	3150.00	3413.00	10920.00	1418.00	18901.00	59.00	Running Meter	1,115,159.00
52	R2-RW-10-13	Providing & fixing in position premoulded Asphalt filler 12mm thick confirming to 1.S. 1838 of 1983 for placing of the expansion joint, around manholes & water entrances, etc put to the required depth & 25 mm below the camber,etc. complete as directed	281.00	361.00	678.00	109.00	1429.00	352.00	Square Meter	503,008.00

Sr. No.	Schedule Item No.	Description	APPA SAHEB SIDDHAYE MARG, Borivali(East)	WAMAN RAO PAI MARG (KAJU PADA BUS STOP TO TRI MANDIR), Borivali(East)	SANT DNYANESHWAR ROAD (SIDE STRIP), (Including Sona Talkies bylane)Borivati(Eas t) & Broken panels	Shree Krishna Nagar Road no. 2	Total Quantity	Rate	Per	Amount
1	2	3	4	5	6	7	8	9	10	11
53	R2-RW-10-14	Providing & placing 5mm thick thermocole in dummy & construction joint simmediately after cutting of joints & removing the same before dressing of dummy & construction joints etc. complete , as directed.	714.00	788.00	2294.00	276.00	4072.00	76.00	Square Meter	309,472.00
54	R2-RW-10-15	Providing & fixing high density polythene pipe of approved quality to fit around the dowel bars of \$2 mm dia at the end of expansion joints, fully greased inside, cotton waste the pipe around the dowel bars & the pipe duly capped at the end as directed. (H.D.P.pipe shall be 30em in length)	557.00	685.00	208.00	0.00	1450.00	31.00	Nos	44,950.00
55	R2-RW-10-16	Providing & fixing in position mild steel tie bars of 12 mm dia 55 cm long & 45 cm C/C whenever directed including handling, wrapping with paper for half length, fixing, straightening, wastage etc. complete in all respect as directed.	1.50	2.00	0.50	0.00	4.00	63226.00	М.Т.	252,904.00
56	R2-RW-10-17	Providing & fixing in position M.S. dowel bars of 32mm dia 55 cm long & 30 cm C/C whenever directed including handling, fixing, etc. complete(no extra payment will be made for applying bitumen & grease to dowel bars).	4.00	4.50	1.50	0.00	10.00	62904.00	M.T.	629,040.00
57	R2-RW-10-19	Compared to extra payment with the mater to appying binner regress to dower bars). Providing & constructing cement vatas in CM (1:10) at 0.6m *0.6m c/c/admeasuring 0.09m at bottom,0.04m at top & 0.075m deep & maintaining the same throughout 14 days curing & removing the same thereafter as directed.	15498.00	18287.00	12785.00	1536.00	48106.00	78.00	Square Meter	3,752,268.00
58	R2-RW-10-23	Dressing of M-35 & above new C.C. pavement, dummy, transverse, longitudinal & expansion joints with hot subberised scaling compound confirming to ISI834-1984 after proper cleaning with compressed air, applying required primer & providing a layer of line powder over hot scaling compound etc. complete as directed. A)Sealing 6 mm wide dummy/transverse joints with a depth of 100mm/ 1/3rd thickness of concrete pavement.	3645.00	4084.00	10920.00	1205.00	19854.00	92.00	Running Meter	1,826,568.00
59	R2-RW-10-24	Dressing of M-35 & above new C.C. pavement, dummy,transverse,longitudinal&expansion joints with hot rubber is edscaling compound confirming to IS 1834-1994 after proper cleaning with compressed air, applying required primer & providing a layer of lime powder over hotscaling compound etc.complete as directed. ISSealingof form wide longitudinal jointwithdepthof100mm./1/3rdthicknessofconceretepavement.	3150.00	3413.00	10920.00	1418.00	18901.00	92.00	Running Meter	1,738,892.00
60	R2-HE-7-2-a	Supplying, providing laying and jointing GI pipes in trenches of following class and diameter by wrapping them by hessian cloth with tar coating and including any nominal pipe length required to be laid above ground level, conveyance from stores to site work, all labour, necessary excavation, backfilling, giving satisfactory hydraulic test, etc complete in all respect as directed by Engineer in Charge. Note : Only MCGM approved GI pipe brands shall be used, all pipe and pipe fittings shall be C class (heavy grade) having ISI marking 15 mm dia	50.00	70.00	140.00	30.00	290.00	168.00	0	48,720.00
61	R2-HE-7-2-b	Do20 mm dia.	50.00	70.00	140.00	30.00	290.00	174.00	Running Meter	50,460.00
62	R2-HE-7-2-c	Do25 mm dia.	50.00	70.00	140.00	30.00	290.00	265.00	Running Meter	76,850.00
63	R2-HE-7-2-d	Do32 mm dia.	50.00	70.00	140.00	30.00	290.00	316.00	Running Meter	91,640.00
64	R2-HE-7-2-e	Do40 mm dia.	50.00	70.00	140.00	30.00	290.00	388.00	Running Meter	112,520.00
65	R2-HE-7-2-f R2-CS-PS-90-a	Do50 mm dia. Providing and fixing G.I. pipes complete with G.I. fittings including trenching and refilling etc 15 mm dia	50.00	70.00	140.00	30.00	290.00	481.00	Running Meter Running Meter	139,490.00
67	R2-RT-16-33	Providing and applying hot applied thermoplastic toad marking material with glass beads extremely high skid resistance 2.5mm thick without primer coat (tack coat) on asphalt road surface. All labour materials with special aggregates etc, as specified in B.S., part-J & II 1989 and carrying out the marking on any road on center line and other lane marking continuous for intermittent 10m or 15cm width and also pedistrian crossings stripes as well as spraying further quality of glass beads of type II uniformly into a mono layer on to the hot prime rule in quick succession of the paint spraying operation @ 250gms per sq.mt. area as directed and as per B.S./M.O.S.T. specification in White /Yellow colour.	540.00	705.00	1080.00	165.00	2490.00	662.00	Square Meter	1,648,380.00
68	R2-RT-16-07	Arrow marking for Route direction straight or right or left or straight & right or straight or left & lettering as per design in white or traffic yellow as specified and directed for speed limit upto 50 km/hrs.	5.00	7.00	14.00	3.00	29.00	1241.00	Nos	35,989.00
69	R2-RT-16-08	Street Name Board without sign board: Providing, fabricating and creeting on site Street Name Board (of type 25-A-1) as per the design incorporated in the catalogue of street Furniture (Volume-II) Published by M.C.C.M. Verical pole shall be M.S. Square price of size 75mm <i>x</i> 75mm x 35mm the Signace plaque (box) shall be of size 90mm x 60mm rade of M.S. angle frame of size 50mm x 50mm x 60mm X form thick covered with 3mm the aluminum sheer / F.R.P. Sheet on both sides. The signage plaque assembly shall be fixed to the vertical pole with 40mm x 10mm this izen Staynport plate. The traffic signboard of size 60mm and shall be supported on M.S. support pipe of size 50mm x50mm x 3mm. Traffic sign board shall be made of 25mm x 25mm x 3mm thick M.S. Sup pipes covered with M.S. plate of size 75mm x 75mm x 3.5mm thick. Both the boxes shall be pasted with HIGH INTENSITY GRADE retro reflective base sheets on both sides conforming to I.R.C. 67 CODEL LETERS or signages to be pasted on these boxes shall also be of HIGH INTENSITY GRADE (upto 50% of basic area) conforming to I.R.C. 67	2.00	2.00	2.00	2.00	8.00	22712.00	Nos	181,696.00
70	R2-RT-16-15	Junction Name Board : Providing, fixing and erecting on site Junction Name Board / Chowk (of type 25-D), as per the design incorporated in the caralogue of street Furniture published by M.C.G.M., Vertical pole shall be AMS. Square pipe of size 100mm x 100mm x 35mm thick. Signage plaque (box) shall be of size 900mm x 900mm made of MSL angle frame of size 75mm x 75mm x 6mm thick covered with 3mm thick aluminum sheet / F.R.P. Sheet on both sides, the box assembly; shall be fixed to the vertical pole with 40mm x 100mm thick is 200mm kinet and the size of the size of the size 100 be shall be locad with MS Plate of size 100mm x 100mm x 35mm thick. The box shall be pasted with HIGH INTENSITY GRADE (put of 90% of basic ace) conforming to LR.C. of CODE. Letters of sheet shall have guarantee of 7 years. The reflection count shall not be less than 90% of its original reflection and ther? years. The foundation shall either be with base plate of 200 x 200 x 6mm thick 16 mm dia J Bolts or embedding pipe in foundation by providing.	1.00	0.00	3.00	1.00	5.00	35459.00	Nos	177,295.00

Sr. No.	Schedule Item No.	Description	APPA SAHEB SIDDHAYE MARG, Borivali(East)	WAMAN RAO PAI MARG (KAJU PADA BUS STOP TO TRI MANDIR), Borivali(East)	SANT DNYANESHWAR ROAD (SIDE STRIP), (Including Sona Talkies bylane)Borivali(Eas t) & Broken panels	Shree Krishna Nagar Road no. 2	Total Quantity	Rate	Per	Amount
1	2	3	4	5	6	7	8	9	10	11
71	R2-RT-16-18	Direction – Board – Providing, Fabricating, Erecting on site Direction Board (of type 35A2) (small-2) As per the design incorporated in the catalogue of street Furniture published by M.C.G.M., Vertical pole shall be ISMC-350. Signage plaque (box) shall be of size 1200mm x 2400mm made of ISMC 100mm and becing of MS angle 50mm x 50mm x 60mm x 60mm, covered with 3 mm alumium share / F.R.P. Sheet on both sides, the box assembly shall be fixed to the vertical pole. The box shall be parted with HGI HTENSTY GRADE (rec or effective base sheets on both sides conforming to LR.C. 67 CODE. Letters or signages to be pasted on this box shall be parted with HGI HTENSTY GRADE (rec or flexible to the effective base sheets) and the sides conforming to LR.C. 67 CODE. Letters or signages to be pasted on this box shall be parted with HGI HTENSTY GRADE (reg upannete of 7 years). The reflexitor count shall no be less than 09% of its original reflexion after 7 years. The vertical poles shall be provided with 20 mm as 10 mm as 6 nos. hold fasts embedded in 12:4 CC foundation of size 1500 mm x 1500mm as shown in drawing (3F-AL1). The assembly shall be treated with Rusticide solution of approved company and applied with Polyuethane primer and Paint to resist rusting of material (the treatment shall be given as per	1.00	2.00	3.00	1.00	7.00	37751.00	Nos	264,257.00
72	R2-RT-16-25	Mandatory & Cautionary Board – Providing, Fabricating, Erecting on site Mandatory & Cautionary Boards (of type 1S-A-1). As per the design incorporated in Street Furniture catalogue volume–II published by M.C.G.M., Vertical poles shall be M.S. Square pipe of size 50mm x 50mm x 35mm thick. Signage plaque (box) shall be of size 600mm dia. The box shall be make of MS Square pipe of size 23mm x 25mm stam thick overed with 3 mm thick aluminum short / JRP. Sheet on both sides; The box ssendby shall be fact to the vertical pole. The box shall be pasted with HIGH INTENSITY GRADE retro reflective base sheets on both sides; The box ssendby shall be fact on the vertical pole. Letters or signages to be pasted on this box shall also be of HIGH INTENSITY GRADE (up to 50% of base area) conforming to LRC. 67 CODE. Letters or signages to be pasted on this box shall also be of HIGH INTENSITY GRADE (up to 50% of base area) conforming to LRC. 67 CODE after 7 years. The foundation shall either be with base shall either be with base plate of M.S. of size 200 x 200 x 6mm thick, 16 dia J Bolts or embedding the pole in foundation with 12mm dia x 6 nos. hold fasts embedded in 12-4 concrete as shown in drawing (ISA	4.00	6.00	12.00	2.00	24.00	6469.00	Nos	155,256.00
73	R2-RT-16-27	TRIANGULAR BOARD – Providing, Fabricating, Erecting on site Mandatory Boards (of type 1S-A-1.1). As per the design incorporated in Street Fumiture catalogue volume-II published by M.C.G.M., Vertical poles shall be M.S. Square pipe of size 30mm x 50mm x 1.5mm thick. Signage plaque (body shall be of size 900mm dia. The box shall be made of MS Square pipe of size 30mm x 50mm x 50mm x 1.5mm thick. Signage plaque (body shall be of size 900mm dia. The box shall be made of MS Square pipe of size 50mm x 50mm x 50mm x 1.5mm thick. Signage plaque (body shall be of size 900mm dia. The box shall be made of MS Square pipe of size 50mm x 50mm x 50m x 1.5mm thick aurantical aurantical model and the state of the state on both sides conforming to LR.C. 67 (CODE. Letters or signages to be pasted on this box shall also be of HIGH INTENSITY GRADE! (up to 50% of basic area) conforming to LR.C. 67 (CODE. The reflectivity of shewer shall have be an anter of 7 years. The reflection count shall not be less than 90% of its original reflection after 7 years. The foundation shall either be with base shall wither be with base plate of M.S. of size 200 x 200 x 6mm thick, 16 dia J Bolts or embedding the pole in foundation with 12mm dia x 6 nos. hold fasts embedded in 12-4 concerte as shown in drawing (IS-A.1).	2.00	3.00	6.00	1.00	12.00	12031.00	Nos	144,372.00
74	R2-GW-7-11	Supply and Spreading of Red Hill Earth Red hill earth free from graass, stones, rubbles redish in colour pass through 5 mm sieve and	18.00	24.00	180.00	3.60	225.60	1283.00	Cubic Meter	289,444.80
75	R2-SE-10-3	spreading of red hill earth at site location/ plot and rolling as directed by site incharge Supplying and fixing 0.56 M dia C.I. Circular extra heavy duty (EHD) air tight frame and cover weighing minimum 230kg fixed	0.00	0.00	0.00	0.00	0.00	29935.00	Each	
76	R2-SWD-154	complete to manholes. Providing & Fixing 100 mm. dia PVC. Pipes of approved quality as weep holes in nalla/retaining walls etc.complete as directed by	195.00	229.00	531.00	84.00	1039.00	355.00	Running Meter	368,845.00
77	R2-RW-10-28	Engineer in Charge. Supply & filling sand metal, GRAVELLY SAND, corresponded to CLASS II/ CLASS III GRADING of TABLE 100.1 of MCGM road specifications for roadworks in trenches upto required depth & watering, ramming etc. complete as directed.	200.00	273.80	200.00	200.00	873.80	1905.00	Cubic Meter	1,664,589.00
78	R2-SWD-35	Cutting down existing cement / lime concrete works by any means in pavement, bedding below foundation, coping, walls arches, stone, back pavement coping etc. of any thickness of any height / depth above or below ground level etc.complete, as specified & as directed by Engineer in Charge.	25.00	177.00	611.00	2.00	815.00	1314.00	Cubic Meter	1,070,910.00
79	R2-SWD-36	Cutting down completely RCC slab, valls, beams, columns, arches, piles, pile caps of any thickness and or size of any height / depth by any means below or above ground level including cutting down steel reinforcement, removing and stacking them properly as directed erccomplete, as specified & as directed by Engineer in Charge.	101.00	224.00	800.00	7.00	1132.00	1588.00	Cubic Meter	1,797,616.00
80	R2-RW-10-18	Providing & laying water proof paper of 40 GSM including overlap (to be not less than 10cm)etc. complete as specified as directed.	9403.00	11384.00	16764.00	1547.00	39098.00	11.00	Square Meter	430,078.00
81	R2-RW-10-63	Extrn Over item of stencil concrete above M-20 in footpath Providing, applying and finishing the top surface of M-20 concrete with stamp/ stencil of approved partern and colour, in accordance with manufacturer's specification of any approved brand of colour hardener @ of 35 kgs/m2, including floating of colour hardened over concrete surface with different types of floaters; including application of release agent @ of 015 kgs/m2, stamping over the concrete surface with stamping to the single application of two costs of acrylic based scale for finishing. Colour hardener and release agent @ of 015 kgs/m2, stamping over the source study and the scale scale and the scale should not be more than 0.65 sqm per one litre coat; including cost of skilled manpower, cutting machine, sprayer and all tools tackles for all activities; complete smooth & finish as per direction of Engineer-In-Change.	0.00	1310.00	3135.00	0.00	4445.00	436.00	Square Meter	1,938,020.00
82	R2-RW-7-17	Providing applying Yellow & Black road marking paint grade-1 in 3-coats including single coat of approved brand primer after cleaning of old surface of kerbstone with brushing by wire brush as per relevant LS, codes to the satisfaction of Engineer-in-charge etc. complete.	0.00	820.00	2800.00	0.00	3620.00	50.00	Running Meter	181,000.00
83	R2-SWD-57	Providing 12 mm thick cement plaster in cement mortar 1:2 including neat cement rendering with approved water proofing compound (with a proportion as specified by the manufacturer per bag of cement) as specified & as directed by Engineer in Charge	50.00	50.00	50.00	50.00	200.00	271.00	Square Meter	54,200.00
84	R2-SWD-58	Providing 20 mm thick cement plaster in cement mortar 1:2 including neat cement rendering (without water proofing compound) as specified & as directed by Engineer in Charge.	50.00	50.00	50.00	50.00	200.00	376.00	Square Meter	75,200.00

Sr. No.	Schedule Item No.	Description	APPA SAHEB SIDDHAYE MARG, Borivali(East)	MARG (KAJU PADA BUS STOP TO TRI MANDIR), Borivali(East)	SANT DNYANESHWAR ROAD (SIDE STRIP), (Including Sona Talkies bylane)Borivali(Eas t) & Broken panels	Shree Krishna Nagar Road no. 2	Total Quantity	Rate	Per	Amount
1	2	3	4	5	6	7	8	9	10	11
85	R2-RT-16-34	Supplying/ fixing of Two Way Raised Pavement Markers made of polycarbonate moulded body and reflective panels with micro prismatic lens capable of providing total internal reflection of the light entering the lens face and shall support a load of 13635 kg tested in accordance to ASTM D 4280 Type II and complying to Specifications of Category A of MORTH Greatar No RW/NH13023/10-97 DO III Dt 110.1097. The minimum reflective area of 13 SqC mo NOS side and the slope to the base shall be 35 + /- 5 dgree. Fixing will be without nails but by using epoxy resin based adhesive as per manufacturer's recommendation including site clearance ete and NOS 427 complete as directed by the engineer. ²	1405.00	2280.00	2455.00	240.00	6380.00	427.00	Each	2,724,260.00
86	R2-SWD-25	Providing and placing in position controlled cement Ready Mix Concrete of M-25 grade in raft slab by using ordinary Portland cement including curing by any means, as specified & as directed by Engineer in Charge. (Reinforcement and form work will be paid separately).	0.00	362.00	1235.00	0.00	1597.00	6979.00	Cubic Meter	11,145,463.00
87	R2-SWD-30	Providing and placing in position controlled Ready Mix Concrete of M-25 grade in walls, deck slab above or below ground level at any height/depth by using ordinary Portland cement including earing by any means, as specified & as directed by Engineer in Charge. (Reinforcement and form work will be paid separately).	0.00	762.00	2673.00	0.00	3435.00	8735.00	Cubic Meter	30,004,725.00
88	R2-SWD-178	Providing & placing in position controlled Ready Mix Concrete of grade M- 40 in raft slab by using Ordinary Portland Cement including transportation to site anywhere in Mumbai including curing by any means etc. complete as directed by Engineer in Charge. (Reinforcement & Formwork shall be paid separately).	490.00	220.00	46.00	103.00	859.00	7777.00	Cubic Meter	6,680,443.00
89	R2-SWD-179	Providing & placing in position controlled Ready Mix Concrete of grade M-40 in walls and deck slab above or below ground level at any height / depth by using Ordinary Portland Cement including Transportation anywhere in Mumbai including curing by any means etc complete as directed by Engineer in Charge. (Reinforcement & Formwork shall be paid separately).	1093.00	559.00	120.00	225.00	1997.00	9569.00	Cubic Meter	19,109,293.00
90	R2-SWD-76	Providing and laying 450mm dia NP2 Class R.C.C. Hume pipes with Collar joints conforming to 1S 458:2003 and laid on approved bedding as per 1S 783:1985 (reaff: 2010) including jointing the pipes and filleting with hemp and stiff mix of cenerant mortar 1:2, including testing of pipes at contractors costs (in presence of municipal staff) as per S1 5397 (etc. complete as specified & as directed by Engineer in Charge. (excluding necessary earthwork & bedding.)	28.00	36.00	77.00	7.00	148.00	2041.00	Meter	302,068.00

				WAMAN PAO PAL	SANT DNYANESHWAR					
Sr. No.	Schedule Item No.	Description	APPA SAHEB SIDDHAYE MARG, Borivali(East)	MARAG (KAJU PADA BUS STOP TO TRI MANDIR), Borivali(East)	ROAD (SIDE STRIP), (Including Sona Talkies bylane)Borivali(Eas t) & Broken panels	Shree Krishna Nagar Road no. 2	Total Quantity	Rate	Per	Amount
1	2	3	4	5	6	7	8	9	10	11
91	R2-SWD-176-A	Providing & Fixing 1.20m X 0.60m ctear internal size of M.S. Galvanised hinged type grating and frame (verjehing minimum 130 kg) of grade HDD2, with minimum 75 microws rate conting by ho dhyped galvanismg the MS grating and frame as per IS 2620; (The contractor shall furnish the certificate of galvanising from the Galvanisec) incuding testing inspection of material sample and finished product as per IS standards and as per Standard Specification on SP-SWD-3 and as per standard drawing, etc complete as specified & as directed by Engineer in Charge.	215.00	106.00	5.00	53.00	379.00	17084.00	Nos	6,474,836.00
92	R2-RW-10-37	Providing and fixing of the precast TREE GUARD KERB of M-20 C.C. of height 230mm., width 100mm., Length 400mm., finished neathy, compacting, curing, formwork etc. including bedding of M-10 C.C.procured from M.C.G.M.approved R.M.C. plant, 10cm.thick, filling of jointing in C.M. 1:2 and painting the esposed surface with 3 coats of road marking paint, Grade I of approved colours and quality including single coat of approved brand primer including excavation in C.C., asphalt etc. as specified and as directed.	63.00	84.00	630.00	13.00	790.00	471.07	Running Meter	372,145.30
93	R2-RW-2-22	Rebate for not using motor grader / paver for laying of Granular Sub base in R2-RW-2.21.	2028.00	2603.00	3472.00	308.00	8411.00	-93.00	Cubic Meter	-782,223.00
94	R2-RW-5-71	Rebate for not using SENSOR PAVER INSTEAD OF ORDINARY PAVER USED for Laying of BITUMINOUS MIXES.	18390.00	21597.00	34669.00	3583.00	78239.00	-7.00	Square Meter	-547,673.00
95	R2-SWD-142	Constructing single water entrance of internal size 0.50m x 0.60m with east-in-situ coping in M-20 grade, fixing of grating in M -20 as per standard drawings (Dwg No. MCGM/SWD/2013-14), etc complete as specified and as directed by Engineer in Charge. (excluding excavation, providing and fixing of gratings and frame)	0.00	172.00	588.00	0.00	760.00	11641.00	Each	8,847,160.00
96	R2-SWD-175-A	Providing & Fixing 0.40m X 0.50m clear internal size of DI hinged type grating and frame (weighing minmum 80 kg) with grade designation of C20 with black binnem coating to DI gratings & frame confirming to EN124 incading testing inspection of material sample and finished product as per IS standards and as per Standard Specification on SP-SWD-3 and as per drawing (Dwg No. MCGM/SWD/2013-10), etc complete as specified & as directed by Engineer in Charge.	0.00	172.00	588.00	0.00	760.00	14786.00	Each	11,237,360.00
97	R2-RW-10-50	Providing and fixing of cement concrete KerbStone of various grades of size: 500mm width x 325 height x 165mm thick (HalfBatter, BullNose, FullBatter) manufactured in wet press vacuum dewatering technology plant / equivalant with face pimple finish for high visibility with excellent quality and finish and edges perfect and sharp. Grade–M. 25includingescavationianysoloceptroteck jangades elingouroscoM15 gradeRMC100mmthicktorequiredslope(inclusiveofformwork).jointing in C.M.1:2proportionflushtoconcretesurface.paintingesposedsurfacewithonecoatofprimerandtwocoatsof1 stgraderoadmarkingpaintintheyello w/white/blackoranyshadeasdirected.(KerbstonesshallbeprocuredfromMCGMregisteredagencies).	0.00	861.00	2940.00	0.00	3801.00	1116.00	Running Meter	4,241,916.00
98	R2-RT-16-14	Circular Steel Bollards : Providing, fabricating and fixing circular Steel Bollards of 100mm dia circular Steel Pipe (of type 3I-A-1) as per the design incorporated in the Catalogue of Street Furniture (Vol-1I). Published by MCGM, made of 10 Guage, 304 quality material with minimum nickel content not less than 10% (aboratory testing certificate shall be provided for used material) with steel pedestal and steel equa se ped esign (SI-A), (SI-A), (SI-A), (SI-A), SI-A) substitution (SI-A), SI-A) and SI-A (SI-A) and SI-A) and SI-A (SI-A) substitution (SI-A). The steel content of the steel and steel cutting, welding, rivering, polishing. The foundation shall either be with base plate of 200 s 200 s com thick, 16 mm dia J Bolts or embedding pipe in foundation by providing 20mm Dia X on so holdfirsts embedded in 12-24 concrete as shown in dawing (SI-A).11. inclusive of making good the damage portion of footpath with matching pavers blocks, illes removing debris etc. complete as per specifications and as directed by the Engineer.	5.00	5.00	5.00	5.00	20.00	16062.00	Nos	321,240.00
99	R2-RT-16-02	Providing, fabrication and fixing M.S. railing of 10 Gauge, 40mm X 40mm square pipe railing with 18mm X18 mm square intermediate support, 65mm X 65mm square main supports with M.S. pedestal (base -1type) and M.S. cap. (type-1) including outing, welding, riveting, oil painting with navy blue colour or any other approved colour shade as directed and fixing in cement concrete foundation as shown vide ScNo. 22-A1 in catalogue of Strenet Furniture (Vol.I) published by M.C.G.M. including removal of surplus material /debries and restoring damaged portion of footpath, etc. as dire	5.00	5.00	5.00	5.00	20.00	7121.00	Meter	142,420.00
100	CE4-18-96. 1-FA2	Providing and laying tactile paving (for visually impaired person), confirming to IS:15622, of approved make in all colours and shades for outdoor floors such as footpth, courtyard, multi-modallocation etc-size 300 x300x 9.8mm, with water absorpation less than 0.5%, laid on 20mm thick bases of cement mortar14 (1 Cement: 4 coarse sand), in all shapes & patterns, including grouting the joints with white cement mixed with matching pigments etc. complete as per direction of Engineer-in-charge.(CPWD)	0.00	414.00	1279.00	0.00	1693.00	4422.00	Square Meter	7,486,446.00
101	R2-SE-1-1	Excavation in all types of soils (for severage works), such as Earth, Marine chy, Marshy had, Running sand, Garbage, Slush, Murum, Rock boulders ete as directed by the engineer. The rate includes dewatering, backfilling, removing the mark vegetation and removing the excavated materials within a lead of 150M as directed including leveling, ramming, ter complete, and measured from the edge of curting including all first and stacking in layers and removing the surplus excavated materials a directed for fit proto 2M (Records to be maintained properly). The rate also includes supporting public utilities such as cables, drains, pipe water mains, but shall not include the cost of shoring etc as specified and directed. 1) The rate includes the handling/supporting the existing utilities such as cables, drains, pipes, water mains etc. 2) It also includes the royalty and other taxes if any.	111.00	111.00	78.00	73.00	373.00	468.00	Cubic Meter	174,564.00
102	R2-SE-1-1-j	Extra over above for item no. SE-1-1 to SE-1-1-i for relevant lift of excavation in soft/ disintegrated nock, noad carriageway,sand stone, stift day, gravel, cobblestone, hard laterite, water bound macadam, wet mix macadam, asphalt mix carpet of any type, pitching, soling, paths and hardcore, lime concrete, plain cement concrete, stone masonry and all types of brick/ block masonry below ground level	33.00	33.00	21.00	19.00	106.00	429.00	Cubic Meter	45,474.00
103	R2-SE-1-1-A	-do-do- as per item SE-1-1 for lift from 2m to 4.0m	11.00	11.00	11.00	11.00	44.00	638.00	Cubic Meter	28,072.00
104	R2-SE-1-4	Providing and removing close shoring and strutting in the treaches/ pits for all depths as per specifications/ drawings and or as directed by Engineer-in-charge by including walling, struts, open poling boards, horizontal sheeting, runners, dog spikes by using timber etc. complete.	111.00	111.00	78.00	73.00	373.00	715.00	Square Meter	266,695.00

Note: Note: <th< th=""><th>Sr. No.</th><th>Schedule Item No.</th><th>Description</th><th>APPA SAHEB SIDDHAYE MARG, Borivali(East)</th><th>WAMAN RAO PAI MARG (KAJU PADA BUS STOP TO TRI MANDIR), Borivali(East)</th><th>SANT DNYANESHWAR ROAD (SIDE STRIP), (Including Sona Talkies bylane)Borivali(Eas t) & Broken panels</th><th>Shrec Krishna Nagar Road no. 2</th><th>Total Quantity</th><th>Rate</th><th>Per</th><th>Amount</th></th<>	Sr. No.	Schedule Item No.	Description	APPA SAHEB SIDDHAYE MARG, Borivali(East)	WAMAN RAO PAI MARG (KAJU PADA BUS STOP TO TRI MANDIR), Borivali(East)	SANT DNYANESHWAR ROAD (SIDE STRIP), (Including Sona Talkies bylane)Borivali(Eas t) & Broken panels	Shrec Krishna Nagar Road no. 2	Total Quantity	Rate	Per	Amount
181 0.58 N/s $0.000_{0}0_{0}0_{0}0_{0}0_{0}0_{0}0_{0}0$	1	2	3	4	5	6	7	8	9	10	11
107 1038 E352 do do 30 100 1000 1000 1000 1000 1000 1000 1	105		thoroughly filled with small chips including filling in with good quality murum brought from outside, compacting with iron rammers, watering, and spreading 12mm this layer of grin to top etc complete as directed by Engineer In Charge. (Note: The rate includes the royalty and other taxes if any)	5.00	5.00	4.00	4.00				40,158.00
108 R2816-3-31 (a) Constructing on ever bold massery or and bis (15 M, as how mail (5 M, as how mai				30.00							107,961.00
100 12.00 2.00 2.00 2.00 2.00 10.0	107	R2-SE-2-5	-dodo- M 15 c.c. For full encasement or cradle -dodo-	8.00	8.00	6.00	6.00	28.00	7354.00	Cubic Meter	205,912.00
100 RX856-70 Income Income 100 <	108	R2-SE-6-2-B	circular air tight frame and cover etc. complete as per description in item No.SE-6-1 depth upt0 2.3 M.	2.00	2.00	2.00	2.00	8.00	90305.00	Nos	722,440.00
10 LOS 1.00 <	109	R2-SE-6-2-C		1.00	1.00	1.00	1.00	4.00	34099.00	Meter Depth	136,396.00
111 R2-W V-2c where in MCGM limit. The power blacks hall be stacked nearly at peedied locations etc. complete as specified and as directed by the "1700.00 1700.00 17248.00 2772.00 22114.00 157.00 Seq 3.268.98 112 R2-W 7-16 Semploying/ fining of One Wp Raided Prevenent Marken made of polycathoatte models lody and reflective pands with micro pinamic line sequels do for vising total interpret is and self sequel as a difficult preper land of the Vising total and reflective pands with micro pinamic line sequels do for vising total interpret is and self sequel as a difficult preper land of the Vising total and reflective pands with micro pinamic line sequels do for vising politic preper land difficult preper land of the Vising total and reflective pands with line sequels and line sequels and line sequel as difficult preper land difficult pre	110	R2-SE-9-1		1.00	1.00	1.00	1.00	4.00	52114.00	Nos	208,456.00
112 R2-RT-16-35 bit incipable of providing routing rend inclose of the light entering in leves frage and shall system in a conduction to ASD 1928 Type III and compty to System IS State and in system in a conduction in ASD 1928 Type III and compty to System IS State and he lights in the light entering in the ligh	111	R2-RW-3-22	where in MCGM limit. The paver blocks shall be stacked neatly at specified locations etc. complete as specified and as directed by the	1700.00	1394.00	17248.00	2772.00	23114.00	157.00	Sqm	3,628,898.00
113R2-CS-EW-18macadam for all depth/f/ts, including manual devatering, filling the solution state et deviced exavated each at the top-kino datice filling the solution solution consoliding comparing to a chieve not list the m97% Modified Potor devision is state et devision and plant initial lead of relevant IS, state in the solution showers system or disposing within an initial lead of relevant IS, stateling the selected material in messarile heaps for future within owners syste or disposing within an initial lead of relevant IS, stateling the selected material in messarile heaps for future within owners syste or disposing within an initial lead of relevant IS, stateling the selected material in messarile heaps for future within owners syste or disposing within an initial lead of relevant IS, stateling the selected material in messarile heaps for future within owners syste or disposing within an initial lead of relevant IS, stateling the selected material in messarile heaps for future within owners syste or disposing within an initial lead of relevant IS, stateling the selected material in messarile as directed, in layers on the relevant IS, stateling the selected material in messarile as directed, in layers on the relevant IS, stateling the selected material in messarile as directed, and selected material in messarile	112	R2-RT-16-35	lens capable of providing total internal reflection of the light entering the lens face and shall support a load of 13635 kg tested in accordance to ASTM D 4280 Type H and complying to Specifications of Category A of MORTH Greuhar No RW/MH/33023/10-97– DO III De 11.06. 1997. The minimum reflective area of 13 SqCm on NOS side and the slope to the base shall be 35 +/ - 5 degree. Fixing will be without raiks but by using epoxy resin based adhesive as per manufacturer's recommendation including site clearance et and	530.00	685.00	985.00	0.00	2200.00	420.00	Nos	924,000.00
II4 R2-CS-MV-2-C cement :6 coarse sand) i	113	R2-CS-EW-18	nacadam for all depths/fifts, including manual dewatering, filling the selected excavated earth at the locations as directed, in layers not more than 200mm thickness, watering, consolidating, compacting to achieve not less then 97% Modified Proctor density conforming to relevant IS, stacking the selected material in measurable heaps for future use within owners space or disposing within an initial lead of 150m as directed, loading, unloading, leveling excluding shoring, struting etc. complete as directed by Engineer-in-Charge. Note 1) The the includes the handling/supporting the existing utilities such as a soles, dains, piper, water mains etc. 2) It also includes the roughty and	2128.08	2402.38	1803.18	180.77	6514.41	3007.00	Cubic Meter	19,588,840.91
II5 R2-CS-CW-6-a reinforced with 1.6 mm da mild sted wire including centering and shutering, roughening cleaning, fixing and finishing in cement mortar 60.00 80.00 600.00 12.00 752.00 2734.00 Sq.m. 2,055,968	114	R2-CS-MW-2-C		10.00	10.00	10.00	10.00	40.00	5171.00	Cubic Meter	206,840.00
Total Amount 4.6 190	115	R2-CS-CW-6-a	reinforced with 1.6 mm dia mild steel wire including centering and shuttering, roughening cleaning, fixing and finishing in cement mortar	60.00	80.00	600.00	12.00	752.00	2734.00	Sq.m.	2,055,968.00
Total Amount 464 97											
										Total Amount	464,820,850.30